
88

套筒  Sleeve

品名型號
EDP NO. Ød ØD L2 L ØDs Øda 圖示 螺絲 板手 適 用 刀具

Applicable Tools
SP380.0416 4.0 16 13 100 20 6.0

圖一

M4 *6

LT-2

TW
27.30  27.40

29.30  29.40  37.40
47.20  47.30  47.40
45.20  45.30  45.40

51.40  53.40
73.40  74.40

SP380.041905 4.0 19.05 13 100 22 6.0

M4 *8

SP380.0420 4.0 20 13 100 24 6.0
SP380.0422 4.0 22 13 100 25 6.0
SP380.0423 4.0 23 13 100 25 6.0
SP380.0425 4.0 25 13 100 24 6.0

圖二
SP380.04254 4.0 25.4 13 100 24 6.0
SP380.0516 5.0 16 13 100 20 6.0

圖一

M4 *6

LT-2

TW
27.50  29.60

37.50
47.50  45.50
51.50  53.50

SP380.051905 5.0 19.05 13 100 22 6.0

M4 *8

SP380.0520 5.0 20 13 100 24 6.0
SP380.0522 5.0 22 13 100 25 6.0
SP380.0523 5.0 23 13 100 25 6.0
SP380.0525 5.0 25 13 100 24 6.0

圖二
SP380.05254 5.0 25.4 13 100 24 6.0
SP380.0616 6.0 16 13 100 20 8.0

圖一

M5 *6

LT-2.5

TW
27.60  29.60

37.60
47.60  45.60
51.60  53.60
73.60  74.60

SP380.061905 6.0 19.05 13 100 22 8.0

M8 *8

SP380.0620 6.0 20 13 100 24 8.0
SP380.0622 6.0 22 13 100 25 10.0
SP380.0623 6.0 23 13 100 25 10.0
SP380.0625 6.0 25 13 100 24 10.0

圖二
SP380.06254 6.0 25.4 13 100 24 10.0
SP380.0716 7.0 16 13 100 20 10.0

圖一

M6 *6

LT-3

TW
27.70  29.70

37.70
47.70  45.70
51.70  53.70

SP380.071905 7.0 19.05 13 100 22 10.0

M6 *8

SP380.0720 7.0 20 13 100 24 10.0
SP380.0722 7.0 22 13 100 25 10.0
SP380.0723 7.0 23 13 100 25 10.0
SP380.0725 7.0 25 13 100 24 10.0

圖二
SP380.07254 7.0 25.4 13 100 24 10.0
SP380.0816 8.0 16 13 100 20 10.0

圖一

M6 *6 LT-2 TW
27.80  29.80

37.80
47.80  45.80
51.80  53.80
73.80  74.80

SP380.081905 8.0 19.05 13 100 22 10.0

M6 *8 LT-3

SP380.0820 8.0 20 13 100 24 10.0
SP380.0822 8.0 22 13 100 25 10.0
SP380.0823 8.0 23 13 100 25 10.0
SP380.0825 8.0 25 13 100 24 10.0

圖二
SP380.08254 8.0 25.4 13 100 24 10.0 73.80  74.80

ØDØDs

L2
L

ød
a

ød (圖一)

(圖二)

圖一

LT-2
29.30  29.40
47.20  47.30
45.20  45.30

51.40  53
73.40  74

M4 *8

0 4.0 20 13 100 24 6....00000000
2 4.0 22 13 100 25 6.0
3 4.0 23 13 100 25 6.6.6.6.6.66.6.666 000000000000
5 4.0 25 13 100 24 6666.6666666 0

圖二
54 4.0 25.4 13 100 2424242424 666666.6666 0000000000
6 5.0 16 13 1010101010000 20202022222022 6.0

圖一圖圖一圖一圖圖圖圖圖圖

M4M4M4M44 *  6

LT-2-2-2

TW
27.50  29

373737737.50
47.550 000  45
511111.5.5.550000 0  5 53

905 5.0 19.05 13 10000000000 2222222222222222 6.0

M4 *8

0 5.0 20 13131331313 10000 2444444444 6.0
2 5.0 22 13 100 25 6.0
3 5.0 23 13 100 25 6666.66666 00000000000
5 5.0 25 131313 1010101011000000 2424242424 66666.00000

圖二
54 5.5.5555555 0 25.444 13 101010101010101000 24 6.0
6 6.0 16 13 1010101010101010000000000000 2020202020202020020200 888888.8888 0

圖一

M5M5M5M5M5M5M5M5M5M55M5M  * ** * ** ***6

LT-22222222.5.5.5.5.5.5.5.5.55555

TWTWTWTWTWTWTWTWWTWTWW
277777777777.6.6.6.6.6.6.6.666000 0000  29

3737377.60
47.60  45
51.60  53
73.60  74

90505050000505050 6.0 1999 000.005555 13 10000000000 22 8.0

M8M8M8M8M88M8M8M8 *   8

0 6.0 202222 13131311 1010101010101010010100000000 24 8.0
2 6.0 22 133333 100 25 10.0
3 6.0 23 13 100 25 1000000000.00.0.0.0.00000
5 6.0 25 13 10000000000 2424442424424 1110111 .000000000

圖二圖二圖二圖二圖二圖二圖二圖二二
54 6.0 25.44 13 100 24 10000000000.00000000000
6 7.0 16 13 100000000000 20220202020200200 10111111 .00000000

圖一

M6M6M6M6M6 *****66666

LT-3

TW
27.70  29

37.70
47.70  45
51.70  53

905 7.0 19.055 13 10011111111 0 22 10.0

M6M6M6M6M6M6M6M6MM6M66M6 *** **********8888

0 7.0 20 13 10110101010100000000000 24 10.0
2 7.0 22 13 100 2525252525252252255 10.0
3 7.0 23 13 1010101011000000000000 25 1010101010101000010.0.0.0.0.0.00.0
5 7.0 25 1333 1010101100000 242442424 101001010.0.0.0.0

二圖二圖二二
54 7.0 25.4 13 100 24 10000.0
6 8.0 16 13 100 20 10100100.0

圖一

MMM6 *6 LT-2 TW
27.80  29905 8.0 19.05 13 100 22 10.0

0 8 0 20 13 100 24 10 0


